ADRIAN STEEL | rppER KEEPER®

VAN AND PICKUP EQUIPMENT

Assembly Instructions

FOR LK8 AND LKX LADDER KEEPERS

o
o
(o]
(9N
o
(ep]
zZ
o
T}
L
-]
(9]
)
m
|_
s
>
m
>
L
e
)
L
s
>
[an]
0
=
@)
8
—
Q
8
i LK8 — LADDER KEEPER, for ladders up to &
E‘ Also includes instructions for LKX!
N
% CHANGES TO STEP 3, 4A, AND 11 FOR 2015 GM FSV LWB AND XLWB
5
L

For alist of ladders that the LADDER KEEPER will accommodate, see page 18.

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 30260-0 Revision E Page No. 1 of 20



ADRIAN STEEL | rppER KEEPER®

VAN AND PICKUP EQUIPMENT

Your LADDER KEEPER® ladder rack is shipped to you as a boxed module. Upon opening your
LADDER KEEPER® carton you should see the following:

BEFORE YOU START

IMPORTANT NOTES PERTAINING TO USER AND/OR
PRODUCT SAFETY ARE DENOTED BY A STOP SIGN AND
THEY MUST BE FOLLOWED IN ORDER TO COMPLETE A
SAFE ASSEMBLY AND INSTALLATION!

& &

YOU WILL NEED THE FOLLOWING TOOLS IN ORDER TO COMPLETE THIS

JOB.
7/32" ALLEN WRENCH 7/16", 1/2", & 9/16” 3/8” DRILL BIT
Ft. Lb. COMBINATION END (w/Drill Stop)
TOURQUE WRENCH WRENCHES
RATCHET WRENCH, WARNING:
WITH 7/16", 1/2", & 9/16" DO NOT USE IMPACT TOOLS FOR
SOCKETS ASSEMBLY!

3/8” FASTENERS SHOULD BE TIGHTENED TO A TORQUE OF 18 FT. LBS.
5/16” FASTENERS SHOULD BE TIGHTENED TO A TORQUE OF 12 FT.LBS.
1/4” FASTENERS SHOULD BE TIGHTENED TO A TORQUE OF 8 FT. LBS.

THE USE OF AIR OR ELECTRIC IMPACT TOOLS FOR THE ASSEMBLY OF FASTENERS
IS NOT RECOMMENDED AND COULD CAUSE FASTENER FAILURE!

ADRIAN, MI. 49221 *® (517) 265-6194

ADRIAN STEEL COMPANY * 906 JAMES ST. *

P.N. 30260-0 Revision E Page No. 2 of 20



ADRIAN STEEL | A\ppDER KEEPER®

VAN AND PICKUP EQUIPMENT

C STEP -01 ) ATTACHING FORD MOUNTING ANGLE

Remove the Ladder Rack components from the shipping carton. If you are assembling this
LADDER KEEPER® into a Ford full size van, locate the Ford mounting angle and attach to the Base
Rail Weldment as shown below. If you are installing into a GM or Sprinter van, proceed to Step-02.

= U’ «——— SCREW, BHCS,
17 3/8-16UNC X 1.0”
BASE RAIL FAS0572 QTY =2
WELDMENT
30241-0

\ MTG ANGLE,

FORD, LK8
30257-0

NUT, NYLON LOCK,
3/8-16UNC, SS
FAS0249 QTY =2

Remove the remaining parts box from the main carton and place it near your work area.

C STEP - 03 ) DRILL HOLES AND ATTACH BASE RAIL WELDMENT @ UPDATE

Mark and drill a hole in the roof bow and set a plusnut. If possible, use existing holes in roof
bows and open up with the drill bit (2015 GM USE CENTER HOLE IN FRONT OF OEM LIGHTS).
Step 1. Leave the plusnut partially backed out of the hole, as shown in the before photo Step 2.
Start crimping the plusnut. Step 3. As you contuine to crimp the thr plusnut insert it completely into
the hole, as shown in the after picture.
(THESE STEPS ARE TO PREVENT DAMAGING THE EXTERIOR)
Before: After:

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 30260-0 Revision E Page No. 3 of 20



ADRIAN STEEL | rppER KEEPER®

VAN AND PICKUP EQUIPMENT

LOOSELY attach the Base Rail Weldment to the rear header and the roof bow using the
following fasteners: 2015 GM FSV (2) 03927-2 AND (1)FAS0080 SCREW,HH ¥2-20UNC X 2" ARE
TO BE USED AT EACH ROOF BOW MOUNTING POINT TO CLEAR OEM LIGHTS.

FAS0052

WASHER, FLAT, 1/4" ID

FAS0067 BASE RAIL

- WELDMENT
SCREW, HH, 1/4-20UNC X 1.25" ———0 [ 30240-0
FAS0073 ﬂ

Slide Keeper Weldment onto Base Rail Weldment and move towards rear header for use later.

BASE RAIL
WELDMENT
30240-0

KEEPER —/

WELDMENT
30241-0

C STEP - 03 ) MARK HOLES IN REAR HEADER (continued)

In the full size Ford vans, we recommend installing the LK8 in the center of the roof, aligned with
existing OEM center slot in roof bow. For the Ford, locate the mounting angle onto the rear header
around the dome light and mark the (2) holes for drilling. For the GM van, locate the Base Rail
Weldment off center (drivers side) of the OEM roof mounted interior cargo dome light. Locate the Base
Rail Weldment against the rear header and mark the (2) holes for setting plusnuts.

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 30260-0 Revision E Page No. 4 of 20



VAN AND PICKUP EQUIPMENT

ADRIAN STEEL | \DDER KEEPER®

GM / SPRINTER

MARK THESE HOLES A/

DOMELIGHT ON REAR HEADER!
AREA g

WARNING!! PLEASE MAKE SURE NO WIRES ARE DAMAGED OR PINCHED @
WHEN MARKING HOLES OR INSTALLING INTO THE REAR HEADER!!

C STEP -03 ) DRILL HOLES AND ATTACH BASE RAIL WELDMENT

Center punch the holes for better control when drilling. Using a 3&” drill bit with a drill stop, drill
the (2) marked locations and set plusnuts in the holes.

FORD FSV
INSTALLATION

MTG ANGLE, FORD, LK8
30257-0

&

PLUSNUT, 1/4-20UNC _/

FAS0052 QTY =2

SPACER, 11/16”, FLR
03927-2 QTY =2

WASHER, FLAT, 1/4" ID SCREW, HH, 1/4-20UNC X 1.25”
FAS0067 QTY =2 FAS0073 QTY =2

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 30260-0 Revision E Page No. 5 of 20



ADRIAN STEEL | rppER KEEPER®

VAN AND PICKUP EQUIPMENT

GM FSV & SPRINTER
INSTALLATION

PLUSNUT, 1/4-20UNC T\
FAS0052 QTY =2

WASHER, FLAT, 1/4" ID
FAS0067 QTY =2

SCREW, HH, 1/4-20UNC X 0.75”
FAS0063 QTY =2

C STEP- 04A) CONNECT EXTENSION RAIL WELDMENT UPDATE

NOTE:
THIS STEP COVERS INSTALLATION OF THE EXTENSION RAIL WELDMENT FOR THE FORD
EXTENDED BODY FSV, GM EXTENDED WHEEL BASE FSV, & SPRINTER VANS. FOR THE FORD
STANDARD BODY FSV PROCEED TO STEP 04B AND FOR THE GM LONG WHEEL BASE FSV
PROCEED TO STEP 04C.

Align holes in Extension Rail Weldment with the holes in the end of the Base Rail Weldment and
attach LOOSELY. Mark on roof bows where holes need to be drilled to set plusnuts. Remove
Extension Rail Weldment and drill holes needed with 3" drill bit with drill stop. If possible, use
existing holes in roof bows and open up with the drill bit. Attach in as many roof bow locations as
possible. (2015 GM USE CENTER HOLE IN FRONT OF OEM LIGHTS). Using the following
fasteners: 2015 GM FSV (2) 03927-2 AND (1)FAS0080 SCREW,HH ¥2-20UNC X 2" ARE TO BE
USED AT EACH ROOF BOW MOUNTING POINT TO CLEAR OEM LIGHTS.

NUT, NYLON LOCK,
3/8-16UNC, SS

FAS0249
WASHER, FLAT, 3/8”1D
FAS0104
BASE RAIL
WELDMENT
30240-0 EXTENSION RAIL
WELDMENT
30258-0

SCREW, BHCS,
3/8-16UNC X 1.0”
FAS0572

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 30260-0 Revision E Page No. 6 of 20



ADRIAN STEEL | rppER KEEPER®

VAN AND PICKUP EQUIPMENT
PLUSNUT, 1/4-20UNC
» FAS0052

ﬂ / SPACER, 11/16", FLR

03927-2

/— EXTENSION RAIL WELDMENT

~ iy, 30258-0

WASHER, FLAT, 1/4" ID NM

FAS0067

SCREW, HH, 1/4-20UNC X 1.25” _/ﬂ

Fully tighten fasteners at this time.
FAS0073

C STEP- 048) CONNECT EXTENSION RAIL WELDMENT

NOTE:
THIS STEP COVERS INSTALLATION OF THE EXTENSION RAIL WELDMENT
FOR THE FORD STANDARD BODY FSV ONLY.

REWORK OF THE EXTENSION RAIL WELDMENT (ref: 30258-0) REQUIRED PRIOR TO
ATTACHING TO THE BASE RAIL WELDMENT. TRIMMING THE LENGTH OF THE EXTENSION
RAIL WELDMENT FROM: 52.50" TO: 36.75" PREVENTS THE END PROTRUDING INTO THE
DRIVER / PASSENGER CAB AREA. AFTER CUTTING THE EXTENSIONS RAIL TO THE
LENGTH SPECIFIED BELOW, GRIND (FILE) THE CUT EDGES SMOOTH, AND PAINT WITH
GRAY TOUCH UP PAINT (ASCO PART NUMBER: STP 12G).

- 52.50" -
8 la i |
- 50.00" - -
| 250" -
. 1575" =
& a & !

Align holes in Extension Rail Weldment with the holes in the end of the Base Rail Weldment
and attach LOOSELY. Mark on roof bows where holes need to be drilled to set plusnuts. Remove
Extension Rail Weldment and drill holes needed with 3% drill bit with drill stop. If possible, use

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 30260-0 Revision E Page No. 7 of 20



ADRIAN STEEL | rppER KEEPER®

VAN AND PICKUP EQUIPMENT
existing holes in roof bows

and open up with the drill bit. Attach in as many roof bow locations as possible.

MODIFIED (FORD)
EXTENSION RAIL
WELDMENT

30258-0 (36.75”1g)

C STEP- O4C) CONNECT EXTENSION RAIL WELDMENT

NOTE:
THIS STEP COVERS INSTALLATION OF THE EXTENSION RAIL WELDMENT
FOR THE GM LONG WHEEL BASE FSV ONLY.

REWORK OF THE EXTENSION RAIL WELDMENT (ref: 30258-0) REQUIRED PRIOR TO
ATTACHING TO THE BASE RAIL WELDMENT. TRIMMING THE LENGTH OF THE EXTENSION
RAIL WELDMENT FROM: 52.50" TO: 43.50” PREVENTS THE END PROTRUDING INTO THE
DRIVER / PASSENGER CAB AREA. AFTER CUTTING THE EXTENSIONS RAIL TO THE
LENGTH SPECIFIED BELOW, GRIND (FILE) THE CUT EDGES SMOOTH, AND PAINT WITH
GRAY TOUCH UP PAINT (ASCO PART NUMBER: STP 12G).

ooooooooooooooooooooooooooo

- 2 50"

RN

9.00" -

1

oooooooooooooooooooooooooooo

Align holes in Extension Rail Weldment with the holes in the end of the Base Rail Weldment
and attach LOOSELY. Mark on roof bows where holes need to be drilled to set plusnuts. Remove
Extension Rail Weldment and drill holes needed with 3" drill bit with drill stop. If possible, use

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 30260-0 Revision E Page No. 8 of 20



ADRIAN STEEL | rppER KEEPER®

VAN AND PICKUP EQUIPMENT

existing holes in roof bows

and open up with the drill bit. Attach in as many roof bow locations as possible.

MODIFIED (GM)
EXTENSION RAIL
WELDMENT
30258-0 (43.50”1g)

STOP WELDMENT-LK8
30263-0

[ @ @ )
A% —

LADDER SNUBBER-LK8
30253-0

LADDER STOP-LK8
30254-0

LADDER KEEPER-LKS8
30244-0

GAS SPRING ASSEMBLY-LKS8
30261-0

C STEP - 05 ) ATTACHING STOP WELDMENT

NOTE:

All but the Gas Spring
Assembly will be
partially or entirely
coated in yellow
plastisol.

Locate Stop Weldment as close to the rear doors as possible and attach to the rear position of
the Base Rail Weldment. Do not fully tighten. Make sure the Keeper Weldment that was slid on earlier

is IN FRONT of the Stop Weldment!

ADRIAN STEEL COMPANY * 906 JAMES ST. *

ADRIAN, MI. 49221

(517) 265-6194

P.N. 30260-0

Revision E

Page No. 9 of 20




ADRIAN STEEL | rppER KEEPER®

VAN AND PICKUP EQUIPMENT

SCREW, HEX HD,
5/16-18 X 3.0”
FAS0244 QTY =2

NUT S
A NS «—  BASERAL
5/16QlT8\tJ E o< WELDMENT
@ : ASSEMBLY
30240-0

WASHER, FLAT, 5/16” |
FAS0112 QTY =

/_ STOP WELDMENT
30263-0

C STEP - 05 ) ATTACHING STOP WELDMENT cont'd

Locate Ladder Snubber and Ladder Stop and attach to the Stop Weldment. Do not fully tighten.

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 30260-0 Revision E Page No. 10 of 20



ADRIAN STEEL | rppER KEEPER®

VAN AND PICKUP EQUIPMENT

BASE RAIL WELDMENT

30240-0
STOP
WELDMENT LADDER
30263-0 SNUBBER

30253-0

Ca
NUT, NYLON LOCK

3/8-16UNC
FAS0249 OTY =2

SCREW, BHCS,
3/3-16UNCx1.50
FASO577 QTY =2

WASHER, FLAT, 3/8”ID
FAS0104 QTY =2

LADDER
STOP
ADJUSTMENT 30254-0
HOLES FOR
LADDERS

C STEP - 06) ATTACHING STOP WELDMENT cont'd

Locate Ladder Keeper and attach to the Keeper Weldment. Do not fully tighten.

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 ® (517) 265-6194
P.N. 30260-0 Revision E Page No. 11 of 20




ADRIAN STEEL | rppER KEEPER®

VAN AND PICKUP EQUIPMENT

BASE RAIL
WELDMENT
30240-0

NUT, NYLON LOCK,
_,,,--———~“*"'—'#‘LT::::: 3/8-16UNC
FAS0249 QTY =2
SCREW, BHCS.
3/8-16UNCX1.5”

FASO577 QTY =2

WASHER, FLAT, 3/8”ID
FAS0104 QTY =2

LADDER
KEEPER ADJUSTMENT
LADDERS

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 30260-0 Revision E Page No. 12 of 20



ADRIAN STEEL | rppER KEEPER®

VAN AND PICKUP EQUIPMENT

C STEP - 07 ) ATTACHING GAS SPRING ASSEMBLY

Locate Gas Spring Assembly and choose where to install. There are four (4) sets of holes that
accommodate ladders 4 feet through 8 feet in length. In Ford and GM regular wheelbase vans, the LK8
will accept ladders up to 7’ in length. Do not fully tighten.

HOLES FOR
6’ LADDER

HOLES FOR
5" LADDER

HOLES FOR

4' LADDER

WASHER, FLAT,
5/16” 1D

FAS0112 OTY =2

NUT, NYLON LOCK
5/16-16UNC
FAS0090 QTY =2

~— SCREW. HEX HD,

5/16UNCx3.0”
FAS0244 OTY =2

GAS SPRING
ASSEMBLY
30261-0

0 LADDER

KEEPER
Q?’ 30244-0

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 30260-0 Revision E Page No. 13 of 20



ADRIAN STEEL | rppER KEEPER®

VAN AND PICKUP EQUIPMENT

C STEP - 08 ) LOADING YOUR LADDER

Begin by placing
the head of your

m— |2 der ONto the

Keeper Assembly.

Push forward to
compress the Gas
Spring Assembly.

Place the bottom rungs of
the ladder onto the Stop
Weldment. Ideally, the Gas
Spring Assembly should
keep the ladder snug
against the Stop Weldment.

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 30260-0 Revision E Page No. 14 of 20



ADRIAN STEEL | rppER KEEPER®

VAN AND PICKUP EQUIPMENT
If the LK8 needs adjustment,

please proceed to Step-09 on the next page.

( STEP — 09) ADJUSTING FOR YOUR LADDER

All brackets that will hold the ladder should have been attached so that the fasteners are loose.
This was done to make adjusting for your particular ladder easier.

To adjust for the length of your ladder, first adjust the placement of the Gas Spring Assembly
on the Base Rail Weldment (page 12, Step-07). If further adjustment needs to be made, move the
location of the Stop Weldment (page 9, Step-05). Please make sure there is proper clearance for the
rear doors to close.

Additional adjustments should also be made to enclose the head and bottom rungs of the
ladder within the brackets. Adjust the Ladder Keeper to fully accommodate the head of your ladder
(page 11, Step-06). Then adjust the Ladder Snubber and Ladder Stop to fully enclose the bottom
rungs of your ladder (page 10, Step-05).

The ladder should now be held securely by the LK8. You may now completely tighten the
fasteners.

C STEP—lO) HAND KNOB

When no ladder is being held by the LK8, a Hand Knaob is provided to prevent the Ladder
Keeper from sliding back and forth during normal driving conditions. Slide the Ladder Keeper toward
the fixed Stop Weldment Assembly and position as shown below. Secure in place by hand tightening
the Hand Knob to prevent the Ladder Keeper from sliding during vehicle operation.

N ) WELDNUT

HAND KNOB
16274-0

BASE RAIL WELDMENT
30240-0

KEEPER ASSEMBLY \ STOP WELDMENT

30244-0 ASSEMBLY
30263-0

If you are not installing an LKX, proceed to page 17.
ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 30260-0 Revision E Page No. 15 of 20



ADRIAN STEEL | rppER KEEPER®

VAN AND PICKUP EQUIPMENT

If you are also installing the LKX-Ladder Keeper Extension, please continue below.

Your LADDER KEEPER EXTENSION® ladder rack is shipped to you as a boxed kit. Upon opening your
LADDER KEEPER EXTENSION® carton you should see the following:

LKX — LADDER KEEPER EXTENSION, for ladders up to 12

C STEP -11 ) CONNECT EXTENSION RAIL WELDMENT @ UPDATE

Align holes in Extension Rail Weldment with the holes in the end of the Base Rail
Weldment and attach LOOSELY. Mark on roof bows where holes need to be drilled to set plusnuts.
Remove Extension Rail Weldment and drill holes needed with %" drill bit with drill stop. If possible,
use existing holes in roof bows and open up with the drill bit. Attach in as many roof bow locations
as possible. (2015 GM USE CENTER HOLE IN FRONT OF OEM LIGHTS). Using the following
fasteners: 2015 GM FSV (2) 03927-2 AND (1)FAS0080 SCREW,HH %-20UNC X 2" ARE TO BE
USED AT EACH ROOF BOW MOUNTING POINT TO CLEAR OEM LIGHTS.

NOTE:
If this LK8 kit was modified (shortened) for a Ford or GM FSV (see Step 4A, 4B, & 4C) this
extension kit will not mount as shown below unless a hole is drilled to attach extension rials.

/— NUT, NYLON LOCK,

3/8-16UNC, SS
FAS0249

WASHER, FLAT, 3/8”1D

INSTALLED FAS0104
EXTENSION RAIL
WELDMENT
30258-0 EXTENSION RAIL
WELDMENT
30258-0
SCREW, BHCS,
3/8-16UNC X 1.0”

FASO0572

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 30260-0 Revision E Page No. 16 of 20



ADRIAN STEEL | rppER KEEPER®

VAN AND PICKUP EQUIPMENT

C STEP -11 ) CONNECT EXTENSION RAIL WELDMENT, cont'd

1,-20 PLUSNUT

INSTALLED / FAS0052

EXTENSION RAIL

WELDMENT

30258-0 SPACER, 11/16”
; / 03927-2

EXTENSION RAIL
WELDMENT
30258-0

1/4” FLAT WASHER
FAS0067

1,-20x 14" HEX !
HEAD SCREW x‘
FAS0073

Fully tighten fasteners at this time.

If you are installing an LKX and have completed Step-11, return to
STEP 5, pp 9 and continue with the installation.

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 30260-0 Revision E Page No. 17 of 20



ADRIAN STEEL | rppER KEEPER®

VAN AND PICKUP EQUIPMENT

PRESENTED TO THE END USER WHEN DELIVERING THE

@ THIS COMPLETE INSTRUCTION MANUAL MUST BE
INSTALLED PRODUCT!

It is advised that “ All Fasteners” used in the assembly and
installation of this Ladder Rack System be “checked for
tightness” at the following intervals:

At 2 Weeks of Operation.
and again
At 6 Weeks of Operation.

Assembly fasteners could loosen due to vibration through
your vehicle while on the road or in and out of construction
sites.

This preventative maintenance step must be completed to
ensure your Ladder Rack System gives you long service life.

Failure to complete this required safety inspection at
prescribed intervals “could” void your product warranty.

PRESENTED TO THE END USER WHEN DELIVERING THE

@ THIS COMPLETE INSTRUCTION MANUAL MUST BE
INSTALLED PRODUCT!

THIS COMPLETES THE ASSEMBLY OF YOUR LADDER KEEPER® LADDER
RACK.

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 30260-0 Revision E Page No. 18 of 20



ADRIAN STEEL | rppER KEEPER®

VAN AND PICKUP EQUIPMENT

LADDER KEEPER CAPACITY CHART

STEP LADDER CAPACITY

VEHICLE STEP LADDER CAPACITY
MAKE MODEL MAX LADDER SIZE | REQUIRED KIT(S)
CHEVY STD. 6 LK8
CHEVY EXT. g LK8
FORD STD 6 LK8
FORD EXT. g LK8
118" WB 6 LK8
SPRINTER 140" or 141" g LK8
158" 12’ LK8 + (1 ea. LKX)

EXTENSION LADDER CAPACITY

VEHICLE EXTENSION LADDER CAPACITY

MAKE MODEL MAX LADDER SIZE REQUIRED KIT(S)
CHEVY STD. N/A LK8
CHEVY EXT. 16’ LK8
FORD STD N/A LK8
FORD EXT. 16’ LK-8
118" WB 12’ LK8
SPRINTER 140” or 141 16’ LK8

158" 24’ LK8 + (1 ea. LKX)

ADRIAN STEEL COMPANY * 906 JAMES ST. *

ADRIAN, MI. 49221 *® (517) 265-6194

P.N. 30260-0

Revision E

Page No. 19 of 20




@D

ADRIAN STEEL | A\ppER KEEPER™

VAN AND PICKUP EQUIPMENT

ADRIAN STEEL COMPANY 22200~
906 JAMES STREET, ADRIAN MICHIGAN 49221, PHONE 517-265-6194
YAN/TRUCK VEHICLE INTERIOR AND FASTENER INSTALLATION PROCEOURE

A, FASTENER APPLICATION STANDARD
The proper fostening method in ol cases should ba good maetal te metol contoct, using the fosteners supplied
wiin Adrion’s prepockoged crrongements,
1. Use nut ond belt thraugh in oll localions where possible.
2. Use a plusnub in oll blind locations where Aul and bolt s not p-nﬁ!itllﬁ.
3. The use of sheet melol screws is discouroged, except when nut & bolt or plusnuts can not be applied, and whan
this tyne of fostener con be opplied in such a monner that places it ir sheor, or alows for sewerol in close farmatlen.

B. GENERAL INTERIOR ASSEMBLY AND INSTALLATION PROCEDURE

Adrign Steel interior orrongements ore usually flustroted on a product dato sheet which shows the correct orientation of
all componeats in your vehicle.

1. Use the ossembly instruclicns sent wilh the components to pre—assemble any thol may require [t, lodder rocks, cab/
cargo partition, knock—down units, ond modules.

2. Al Adrion prepockoged interiors, except lhase for pickup bed boaes, include a cob/corge portition, The partition should be
ingtolled firsl, wsing the siruclions packed with it

3. Mewt imatall the sireat side componenis |f the spore it being retocoled to ine ponel behind fne drivers seot, leave at least 107
between the portition ond the first component on that dide. Always set oll the components in ploce before drilling to instoll.
This ollows you to check for obsiructions on the wvehide thot might require odjustmenta to the composent poaftfoning.

4. Next inatall lhe curb side components, Relocate the spore tire, if present, to the ponel behind the driver or passenger seots

C. SPECIAL INSTRUCTIONS FOR ADRIAN STEEL PROVIDED FASTENERS

. All holes drilled in the vehicle should have their raw metol sdges sealed to resial corrowion, When and if, the drilled hole
could ollow the entry of exhous! goses into the cob areo. It should be seoled ot tne time the fostener is instolled with
Buty o silostic mgterial which will remain flexiible for an extended period of Lime.

2. The blind fastener of choice is the plusnut. Adrion supplies twa thread sizes, 1/4-20 and 5/16-1B. The 5/16-18 i
anly used for specisi applicalions {sich os the mini-von polyguord partitions, floor only, or Sprinter Von Inkeriors).

3 After locoting all pesitions thot will need the plusnul, dril the proper site hole for the plusnut, see Mlustration below.
1/4—20 Plusnuts uses 3/8° dio. (ol locations) 5/16—18 uses 1,2 dia, {oor enly). The lustrotion belaw shows the
sequence used o set a plusnel, ond ihe proper way to use the floor spocers,

Plusnut Use and Installation Spacer Use and Installation
ASTEMALE THE SETTING THE
= s
_ {SHOWN)
17 SETTING B0LT HAND TOOL, RATCHET .-; :
1/4-20 » 2" LONG OR AR TOOL TURNS THE !
A HOLT TO ORAW PLUSNUT ALWAYS PLACE RECESSED —
5/16-18 x Z-1/4" PART OF FLODR SPACER
aM TP OF PLUFSHUT,
2} PLUSHJT TOOL
) PLUSKUT 8,16 BOX OR OPEN
i END WRENCH HOLOS
| THE PLUSNUT TOOL
FLUSHUT i floor mat jute
fae — 39271
...... CRILL METAL {
! 3/8° DU FOR 1/4-20 — 1 1
! 1/2° oA, FOR 5/16-18 I : .
PLUSHUT | Bl it ki
1/4-20 - = =
oR SHEET METAL _ | |
5/16-18 INSTALLATION
' SURFACE
] Sel Plusnut till tight, vehicle flaor with rias and valleys
X 3 NOT OVERTIGHTEN. —_
ha 1
S Hand operoted and pneumagtic tools gre ovgiloble to set plusnuts. g
_L Refer to Mc Masters—Carr or similar industrial catolog under rivet rmut insert tools H
or call Adrign Steel Co. for more information. o

ADRIAN STEEL COMPANY * 906 JAMES ST. ®* ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 30260-0 Revision E Page No. 20 of 20




